H1 7R — VG HER

"

5

12

13

(= 10/11 Y=—2av | 11/3 Y—=2ay [ 11722 NoT—| 12/13 BAC
a—k A-B C-D E-F G-H

BF1ER 1=ZR9357 2BO’s 3 Revival 4D.J 5 B#EYI7 | 6 RERILK
=3 G — 5| E — 5|1G — 1 E — 1| C — 1
2BO’s G — 5 E — 2|42 — 8| E — 660 — 39
3 Revival E — 5| E — 2 %8 — 42|71 — 64| G — 3
4D.J G — 1 [80 — 42|42 — 58 c — 2|E — 3
5 BEYZT E — 1 E — 6|64 — 71| C — 2 G — 6
6 RIBBIULK c — 1|3 — 60|]G — 3|E — 3[G — 6

BF2ER 1 RS 2 Supernova 3MINORITY | 4ATUH—X 5 FRE)
1 X5 H — 5| G — 2 (49 — 66|87 — 32
2 Supernova H — 5 — E — 4 56 — 45
3 MINORITY G — 2 — G — 7|F — 3
4FOUH—-X |66 — 49| E — 4|1 G — 17 G — 4
5 7B 32 — 87|45 — 56| F — 3G — 4

B3R 1+€54957 2 Btk 3 HEROES 4 Backer’ s 59x—/\—X
1239357 F — 5 H — 3|F — 1|37 — 48
2 Bty F — 5 5% — 41| H — 1| C — 3
3 HEROES H — 3[4 — 56 F — 4|44 — 65
4 Backer’ s F — 1 H — 1 F — 4 H — 4
59x—/N\—X |48 — 37| C — 3|65 — 44| H — 4

TF 1 REBEALK 2 HE@EHST 3BO’s 4D.J 5 BEY35T

1 REEEUX 63 — 49| C — 4| H — 17
2 H§EYST
3BO’s 49 — 63 H — 6 F — 2
4D.J c - H — 6 F — 6
5 BEYTT H — 7 F — 2|F — 6

HEFUN— B4 [FEZF
HEFUN— H2 [FEF




